x=0:0.1:2*%pi;

yl=cos (1.7*x);
y2=sin(1.7*x);
subplot(2,2,1)
plot(x,vyl)
title('yl=cos(1l.7*x)")
xlabel ('x"'")

ylabel ('y")
subplot(2,2,2)
plot(x,y2)
title('y2=sin(l.7*x)")
xlabel ('x")

ylabel ('y")

subplot (2,2, 3)
plot(x,vyl,'g',x,y2,'r")
title('cos and sin')

legend('cos(1.7*x) "', 'sin(1.7*x) ")
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(2)
.a
M=1.111..1-21%7 = 2. 2127 = 128 m=1.000..0-27128 = 2-128
23 times 23 times
b
M=1.111..1-2%0% = 2. 21023 = ploz4 m =1.000..0- 271024 = p~1024
51 times 51 times
.C

a. M = 2128 = x100 > 2128 o 5 > "}/p128

b. M = 21024 = x > *}/21024



(3)

for f(x) = Vx we define P,(x) = ¢y + ¢;x + cx?, given: (1,1),(4,2),(9,3)

P2(1)2C0+C1+C2:1
P2(4) :C0+4C1+16C2 :2
P2(9)=C0+9C1+81C2=3

Console:

A=1[1,1,1;1,4,16;1,9,81]
b [1,2,31"

x = linsolve (A, Db)

rat x = rats(x)

edit pol2.m

pol2.m:
function[result] = pol2(x)
coeff = [-1/60,5/12,3/5]

result = polyval (coeff, x)

x = 0.01:0.01:12
subplot (2,2,1)
plot (x,sqgrt(x))
title(‘f(x)")
subplot (2,2,2)
plot (x,pol2 (x)
title (‘pol2 (x)
subplot (2,2, 3)
)

plot (x,sqgrt(x)-pol2(x))

X))
%)’

)

title(“f(x) - pol2(x)’)
for i = 1:1200

rel err(i) = abs((sqgrt(x(i))-pol2(x(i)))/sqrt(x(i)))
end

subplot (2,2,4)
plot (x,rel_err)

title (V] [£(x) - pol2(x)]
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